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	No. 
	Question 
	Answer
	Page Ref 
	Points and Comment re scoring 

	1. 
	What is Avery Kylie Grambs an anagram of?
	A very risky gamble
	356
	Must have the whole anagram for 2 points

	2. 
	What was Tobias’ middle name and what was mysterious about it?
	Tattersall
Tobias didn’t originally have a middle name. He legally changed his name to have a middle name.
	106/107
	1 point – Tattersall
.5 didn’t originally have one
.5 legally changing it.

	3. 
	What happened 20 years ago that made Tobias write a new will and what was in that will?
	His youngest child died – Toby.
His body has never been found.
He disinherited his daughters and left the money to charity,
	123
	.5 Toby died
.5 Body never found
.5 Disinherited daughters
.5 money to charity


	4. 
	What did Avery think about the letters after reading Jameson’s letter?
	That the letters are a part of the puzzle of why Avery inherited. That Avery is a puzzle to be solved.
	83
	1 point for letters part of the puzzle
1 point for Avery part of the puzzle

	5. 
	How did Avery get hurt in Blackwoods?
	Someone shot at her and Jameson.
The bullet ricocheted off a tree and bark cut her face and bark embedded into her collarbone
	216
	1 point for being shot at
1 point for bark hitting her

	6. 
	What does ‘Don’t judge” mean in Jameson’s letter and what did Avery and Jameson do with this clue?
	“Don’t judge a book by its cover”
It lead to Avery and Jameson to start searching the libraries at Hawthorne House for a book with the wrong cover.
	108/109
	1 point for quote/saying
.5 for searching libraries
.5 for looking for a book with the wrong cover

	7. 
	What do the middle names of the Hawthorne boys represent and what are they?
	Locations, Last names
Westbrook
Davenport
Winchester
Blackwood
	151/211
	.5 for locations
.5 las names
1 for all the names

	8. 
	What was the issue with all the keys given to Avery for Hawthorne House?
	Jameson gave Avery multiple keys that looked like antiques. Each key had a different design, different metals, lengths and sizes. But they were copies of the wrong key.
Only 1 key with a different pattern from all the rest opened the door
	59
	1 multiple copies of the wrong keys
1 key different that opened the door

	9. 
	Why did Mr Altman make Avery take a second physics exam?
	Because she got a perfect score and both Mr Yates (teacher) & Mr Altman (principal) thought she cheated
	4
	.5 for perfect score
.5 teachers thought she cheated
.5 Mr Yates
.5 Mr Altman

	10. 
	If yes is no and once is never how many sides does a triangle have?
	two
	32/33
	2 points for correct answer




Level e.g. 5/6, 7/8, 9/10
Prepared by name and region
Points should be even for all questions and equal 2.  Note how the two points can be broken up for each question.

e.g.
	Level 7/8
	Book: Detention
Author: Tristan Bancks
	Prepared by K Callaghan
	
	Region: Brisbane West

	No.
	Question
	Answer
	Page Ref
	Points & comment re scoring

	1
	Why did Sima and her family decide to escape from the detention centre and what was the name of the Australian protester who helped cut the wire in the fence?
	Being deported
Ed
	2
	1 point deported
1 point Ed



